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Solution 2: 

Initial generation at bus 1 = 160MW 

From bus 1  7 

Case/Contingency Line Violation 
(@100%) 
From Bus -> To Bus 

Bus 1 generation Transaction Change 
(UTC) 
 

Base Case 1  2 280 MW 120 MW 
Line 1 out 1  3 200 MW 40 MW 
Line 2 out 1  2 200 MW 40 MW 
Line 3 out 1  2 298 MW 138 MW 
Line 4 out 1  2 296 MW 136 MW 
Line 5 out 4  5 210 MW 50 MW 
Line 6 out 2  5 216 MW 56 MW 
Line 7 out 1  2 275 MW 115 MW 
Line 8 out 1  2 275 MW 115 MW 
Line 9 out 1  2 279 MW 119 MW 
Line 10 out 1  2 283 MW 123 MW 
Line 11 out 1  2 283 MW 123 MW 
    

 

The UTC between bus 1 and system slack bus 7 is the minimum UTC. This equals 40 MW which 
occurs for single line contingencies for line 1 and line 2 outages. 

From bus 7  1 

Case/Contingency Line Violation 
(@100%) 
From Bus -> To Bus 

Bus 1 generation Transaction Change 
(UTC) 
 

Base Case 7  5 -122 MW -182 MW 
Line 1 out 2  3 -50 MW -210 MW 
Line 2 out 7  5 -123 MW -183 MW 
Line 3 out 7  5 -116 MW -276 MW 
Line 4 out 7  5 -116 MW -276 MW 
Line 5 out 5  4 -138 MW -298 MW 
Line 6 out 7  5 -40 MW -200 MW 
Line 7 out 2  3 -87 MW -147 MW 
Line 8 out 7  5 -152 MW -312 MW 
Line 9 out 6  2 -40 MW -200 MW 
Line 10 out 7  5 -90 MW -250 MW 
Line 11 out 7  5 -90 MW -250 MW 
    

 

The UTC between slack bus 7 and bus 1 is the minimum UTC. This equals 200 MW which occurs for 
single line contingencies for line 6 and line 9 outages. 
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